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Performance and loans !

UBI is financed ONLY by the difference national income - private consumption
with Negative Income Flat Tax and increases the disposable national income !

The consumer taxes (including property taxes)
increase the prices. They would paid by the

disposable net incomes with the same money

financing UBI, health and social insurances By VAT this difference is flowing into the now tax free profits of companies
BEFOREhand. because the difference are taxfree foreign consumptions.



Basics for an UBI

Definition of UBI
UBI = TaxRate * national income/inhabitants = TaxCredit
National Account System (NAS) by ESA 2010
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Definition of UBI by J.S.Mill [1848] 1965, bk. 2, 211-12
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“This system does not contemplate the abolition of private property, nor even of inheritance; on the contrary, it avowedly takes into
consideration, as an element in the distribution of the produce, capital as well as labour.... In the distribution, a certain minimum is first
assigned for the subsistence of every member of the community, whether capable or not of labour. The remainder of the produce is
shared in certain proportions, to be determined beforehand, among the three elements, Labour, Capital, and Talent.”

Reasons for UBI by D.Milner [1920], hitp://www.basicincoeme.qut edu.au/documents/Dennis%20Milner%%201920%20bock.pdf ,p. 39

Two main examples are . 1. The maintenance at minimum rates, of those unable to earn the minimum.
2. The maintenance of an assumed “average” family .
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These are the definitions. Mill describes the UBI as process of internal distribution, based on productivity with financing of 0 cents or
pence. Milner explains, not only workless people needs an UBI, but “average” families too, independent by work.

And this second reason was the reason for Adam Smith 1776, to invent a vertical income tax (solidarity) in addtion to horizontal
consumer taxes (equivalence). The consumers pay more taxes as more they need the law and order of market, the producers pay
more taxes as more they earn in the market by the law and order of market.

Consumption is the distribution from bottom to top, income tax is the REdistribution fromtop to bottom. The producers give the half of
their incomes back to consumers as an equal UBI for next consumption. This is social marketing !

Let us look to the facts (graphic left) : The national productivity is the GDP (Gros Domestic Products) in the National Account
System (German example). Thisis not cnly a collection of figures, but an algorithm too, established by ESA 2010 :

GDP - GVA = consumer taxes for the STATE OF LAW & ORDER and infrastructure.
GVA — National income = subventions through consumer taxes and tax exemptions for income taxes, the ECONOMIC STATE.
National Income = gros primary incomes . The income taxes are financing the WELFARE STATE as 0-sum, distribution

from primary incomes to secondary incomes, social benefits and part of public salaries, from Gros to Net.
= net incomes for workers, owners and workless people, for public officers only their UBIs, the remainder
will be paid by consumer taxes.
The NAS shows: The UBI and the social insurances (health, retirement and unemployment) doesn’t touch as 0-sum of national
income neither market and prices nor the budget of states by consumertaxes. It doesn't touch the “Kings Right”™ of parliaments to
distribute the consumer taxes freely. UBI is only UNCONDITIONAL by income tax.
The gap between peformance of companies and loans & salaries will be closed by a tax rate of 50 % for all incomes.
Then owners, workers and workless people are participating equally on produdiity.

Installing an UBI is implementing a second money cycle of money (graphic right, red cycle).

Today we have the green cycle for credits and the blue cycle for taxes. The national reserve bank is the card holder in the card games
of money. We doean’t need for each game new cards, the card holder has collectthe cards after game, will mix them and give them
new and equal back to all. This recycling is necessary, because the basic goods are be eaten by the consumers, butthe
corresponding money isn’t be burned. This money is “naked debenture™ and must be burned for stabilizing the value of money !

It’s a monetary sense, to transfer the privilege of income taxes for UBI tothe reserve bank for exchange the money for basic needs.
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Definition of tax for UBI
TaxDeht = TaxCredit ~ {income/per capita income - heads of familiy)
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We turn "Net = Gros" on per capita income (tax exemption)
from O to UBI that will define the tax rate. per capita inoome = national income / inhabitants = tax excemption
tax rate 50 % clases the disorepancy between shares the uaﬂ?nal lneo.mo_ln 2 halfs, one for 3_0 %, one for 10 %.
performoneces of companies and loans & salaries UBI = TaxRate * per capita income = Tax Credit
We are borrowing the tax axomptions from all (recipients teo) and  TaxRate = 50 % closes the discrepancy between performances and
Iet pay the payers the income taxes and public health as today.  loans!
Tn SetofUBI : 1. “Everyone gets an UBI” is Residents * UBI = tax rate * national income (productivity)

2. Divided by Residents, we have UBI =tax rate * per capita income as definition.

3. Tax exemption = per capita income, tax rate = UBI/ per capita income

national income — private consumption = national income by exports (foreign consumptions)
= income taxes & savings
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Now to the taxes : The NAS (of Germany) shows, the private consumptionis only ~75 % of the national income. And of course, the
national income isin a common market like EU always higher than the private consumption !

The tax “half of net price” or “double of half net price”™ is the same consumer tax, but the difference between the base, private
consumption or national income, is the foreign consumption.

An “only” consumer tax is the BIG error of Gotz Wemer according Rudolf Steiner !

It is not unconditional and it touches the prices on market and restricts the “King’s right” of parliament to distribute the consumer taxes
free!

Thatisthe reason for 2 taxes in the NAS principally, the foreigners shoud pay taxes for law and order only in their own countries,

but they should pay the full incomes for work. I1t’s an international consensus in EU and WTO.

The Basic Income Flat Tax (BIFT) as Negative Income Flat Tax (NIFT) is defined by 2 parameters,

- tax exemption = per capita income and

-tax rate = UBIftax exemption

for a 0-sum, fulfiling NAS and monthly cash flow without creating new money.

The per capita income shares the naticnal income in exactly 2 halfs of money, only the half UBI volume must be counter financed, the
other half is only borrow of tax exemptions over one night. And it shares the residents in ~90 % net recipients and ~10 % net payers.
A consumer tax can't redistribute from top to bottom, because it has no tax exemption as midpoint. Therefore it needs the double
counter financing

The left graphic shows the method of least square method for incomes, the right the results as quadratic pie. And the half volume of
UBI is financed today by income taxes and health insurances (one quarter of the pie, right above).
Formally all pay their half income and all get the half per capita income asUBI, but effectively only the top 10 % pay taxes, because

for 90 % the UBI is bigger than the taxes!
Because the tax is borrowing only the tax exemptions and the costs for health insurance, the UBI doesnt cost more than the income

taxes today, now only paid by the upperten.

That all isn't new, | am explaining only the solution of Milner and Friedman to the requirements of Mill.

The tax collects the input for the pool, residents * UBI = tax rate * national income.
The UBI as pool / residents is the UNCONDITIONAL payment. Conditional payments are possible by rearranging the output according
the “King's right” of parliament, but they are not unconditional and not a duty for model developments. Iit"s only a political theme.
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Performance and loans !

UBI is financed ONLY by the difference national income - private consumption
with Negative Income Flat Tax and increases the disposable national income !

By VAT this difference is flowing into the now tax free profits of companies
because the difference are taxfree foreign consumptions.
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1. Calculation of savings induding soqal insurances

_632,5 Mia, national income — private consumption
-410 2 Mia. 05 * (workars - ownars)
_222,3 Mia. savingsinduding sodal insurances

2. Caloudation of tax exemption and sodaltransfers

_566,3 Mia, 0,25 * nationalincome

-410 2 Mia. 05 * (workars - owners)

_156,1 i3, Tax onloans for social benefits

+566,3 Mia, taxexemptions

_722,4 Mia. ~ 721 € tax examptions or socal benefits

3. Caloviation of added vaue by UBI for everyone

_156,1 Mia, Tax onloans for social benefits
_254,1 Mia, Subscriptions for health insurance

_410,2 Mia, NEW free disposable nationalincome
-_40 mia, federal grantfor public retirements
_370 Mia. Addition of UBI on tax exemption
-361 2 MEz. =0,5* mcome of enterprises (tax)
__ 9 mia for UBlbyresidents

_370 mMua. Addition of UBI on tax exemption
+721 Mia, Taxexemptionstoday
1051 Mia. UBItomorrow

NO new money
NO new taxes or cuts of public budgets
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1. How we do financeit 7

Net = family members ¥ UBI + {1 - tax rate} ¥ Gros
Summarized over family memberswe have

0 = residents * UBI— tax rate * national income
and divided by residents we have

UBI = taxrate ¥ per capita income!

2. Who is working then 7
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We can control them collectively by the amount of UBI. If not enough
people are working and the per capita income could decrease, we @n

reduce the tax rate and the UBI too.

An UBI is alwaysa compromise between real needs and real per apita

income.

Public cash flow
Negative Income Flat Tax for UB1 in € per capita
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The Negative Income Flat Tax for an UBI is a financial pre-process BEFORE taxes for
state budget and subscriptions for social insurances, private or public.
All people should be able to pay thelr taxes and subscriptions without existential

problems.

The political state budgets shouldn’t touch the social existence and insurances.
This Is the reason for modular outsourcing of UBI and soclal insurances,

Give the people what the people needs, and the state what the state ONLY needs !
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parformancos of companies and loans & saiasries
We are barrowing the tax exemptions from all (recipienta too) and - - .
let pay the payers the income taxes and publio health as teday. n = income / per 03!’“3 mncome

1. We turn the straight line "Net = Gros™ around per capita income from 0 to UBI to define the
tax rate as rotation angle !

2. We divide the family income by per capita income and compare it with the real family
members to define the tax or the top-up benefit !

3. By Flat Tax we tax only all incomes by tax rate and give each family member his UBI.

But for a family the effective tax rate is tax rate * (1 - f/n) with f = family members and
n = family income / per capita income.

4. The tax is clearly transparent, everybody knows what he will pay for!
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Private economic cash flow
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“Funding basic income through taxation is costly.

At the same time, low consumer domand is a major worry.
The European Contral Bank couid kil two birds with ene stone
by giving money diveotly to citizens.”

UBI by taxation isn't costly, it costs 0 cent by UBI = tax rate * tax exemption
AND tax exomption » per capita income.

No problem, if the ECB gets the Income tax privilege.

OR then you can give this privilege to the national reserve banks,
rosponsible for cash money !

But the reserve bank need the privilege of income tax =3 demurrage
to stabllize the value of money !

“Hellcopter” money without demurrage is silly and not scientific !

Quantitative Easing s a funetion of seignotiage (araation of maney),
US8L 1s a function of demurrage (distinction of money by eaten yoods).
To stabilize a money systen wo need BOTH 1

Karl Marx has proposed

"Each for need to have, Each for nice to have by perfeormance”,
as formula according Dennis Milner
Net = family members ¥ UBI + (1 -tax rate) * Gros.
The UBIl is payable individua lly, but the tax burden automatially familialas Fet Tax.
And the stimulus for work is dependent by the taxrate = UBI / per capita income.
Thus thereis no reason to debate if people will work. The society isable to control by tax rate and amount of UBI !
The optimum should be 50 %.
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income taxes

post-work
society
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0,5 national PCl 0,5 national
income per capita income income

Net Income

PCl shares the national income
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We turn "Net = Gros” on per capita income (tax exemption)
from O to UBI that will define the tax rate.

An UBI is always dependent by work, if by people or by machines !

It is a certain part of per capita income.

And in a post-work society 90 % of residents have no chance

to get more money for nice to have, they have only their needs to have.
It will be the victory of capitalism as dictatorship of capitalism!
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UBI and industrial revolution (4.0)

The precariat will be the same, but it will be poorer with
increasing of automation, less work.

Then the precariat will have only the money for goods to have,
no more money for goods nice to have !

The market will be adapt the prices for basic goods
corresponding to UBI.

UBI and Labour Party 2016

https://kittysjones.wordpress.com/2016/02/19/the-labour-
party-is-considering-a-universal-basic-income-policy/

"John McDonnell, the shadow chancellor, has said that the
Labour Party will consider universal basic income as a part of
its new policy, during a recent talk at the London School of
Economics. He said:

“It’s an idea we want to look at. Child benefit was a form of
basic income so it’s not something that | would rule out.”"
UBI is only the extension of children benefit to all, no more.

And it substitutes the tax exemption for holder of incomes.

| remenber Dennis Milner 1920
http://www.basicincome.qut.edu.au/.../Dennis%20Milner... .

The proposal was rejected by the Labour Congress in Brighton
1921 because to less Marxist.
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